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Numerical Example 1:
A soil sample has a void ratio, water content, and specific gravity of 55%, 17%,
and 2.65, respectively. Determine the soil degree of saturation, porosity, natural
unit weight, submerged unit weight, and dry unit weight.
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Numerical Example 2:
Aggregates from a material storage site are required for construction of roadway
embankment. The porosity of the aggregates at the storage site is 80%. Calculate
the volume of aggregates that should to be taken from the storage site to construct
a 7.6m × 305m × 2.1m embankment of soil compacted to porosity of 20%.
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